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7013 -P012 030 500 23 I sa30 5419 10 s PD28 -PD27 2p0as 500 s 235 4315 43.10 10 - PHa -PHE ao0 1 = .47 3135 > > Pi57-PasE s2direz.5a 23 3 53.28 53.00 s - sva3.0 po13 180 0s0x050 spoas P28 2.10 0.50x0.80 svozr Pra 185 0.50x080 s2direr. 58 pas7 185 0.50x0.50
PO12-PO11 500 25 25 54.19 54.08 15 - PD27 - PD26 AFD4S 500 25 25 43.10 43.05 10 - PHE -PHY 500 s - 34.28 33.99 - s PASE-PASS Azdirez.sa 500 25 25 54.00 53.73 2 - SV03.D PO12 175 0.80x 080 APO4S PD27 2.20 0.80%0.80 SVD2F PHE 1.85 0.80%0.80 Azdirez. sa PASE 1.45 0.80x0.80
PO11-PO10 500 25 25 54.08 53.98 15 - PD26 - PD25 APD4S 630 25 25 42.95 42.80 10 - PHS - PH10 00 25 - 3399 33.35 - 25 PASS-PASOD AZdirez.SA 500 25 a5 53.73 53.41 5 - 5V03.D POLL 1.70 0B80x080 APD4S PD26 2.0 0.80x0.80 SVO2.F PHS 1.65 0.80%0.80 AZdirez. SA PASS 145 0.80x0.80
PO10-POS SV03.0 500 25 25 53.98 53.87 15 - PD25 -PD24. AFO4S 630 25 25 42.90 42.85 5 - PH10-PH11 SVOLF 500 s - 33.36 3.0 - s PAS0-PAS1 Azdirez.sA 500 25 25 53.41 5 = SV03.D POL0 1.60 0.80x 080 APD4S PD25 2.55 0.80%0.80 PH10 1.65 0.80%0.80 Azdirez. sa Pas0 1.45 0.80x0.80
POS-1PPL svo3.0 30 13 5 5377 53.80 5 s PD24 -PD23 2poas 50 s 235 2255 22.80 s = PHI1-PHIZ sw20 s00 23 3 2.0 3127 > 23 pes1-pasz 500 23 3 S50 s2m s - svo3.0 pos 170 080x050 spoas P24 2.1 0.50x0.80 P11 185 0.50x080 s2direr. 58 [ 185 0.50x0.50
PP40 -PP33 SVO03.E 315 20 20 50.82 50.69 15 - PD23 -PD2Z APD4S 630 25 25 42.80 5 - PH1Z -PHI13 SV020 500 25 - 31.27 29.95 - 25 PASZ-PAE3 AZdirez.SA 500 25 a5 52.71 52.42 5 - SVO3.E PPaD 1.25 0B80x080 APD4S PD23 2.80 0.80x 0.80 PH12 1.65 0.80x 0.80 AZdirez. SA Pa52 1.45 0.80x 0.80
PP39-PP3E SVO3.E 315 25 25 50.69 50.36 15 - PD22 -FD21 AFO4S 630 25 25 4275 42.70 5 - PH13 -PH14 5W020 500 s - 29.95 28.57 - s PA53-PASA Azdirez.sA 500 s 25 52.42 52.18 5 = SVI03.E PP39 199 0E0x080 APD4S PD22 2.90 0.80x0.80 PH13 1.65 0.80%0.80 Azdirez. sa Pas3 1.45 0.80x0.80
PP35-PP37 o3 313 23 I a9.99 15 s PD21 -#D20 2poas 50 s 235 2270 a2.85 s = PH1a -PHIS sw20 s00 23 3 2857 2723 > 23 Pesa-pass s00 25 3 s2.18 5158 s - svos. PP 125 080x050 spaas P21 3.00 0.50x0.80 P12 185 0.50x080 s2direr. 58 pesa 185 0.50x0.50
PP37-PP36 SVO3.E 315 25 25 49.61 15 - PD18 - PD1B AFD4S 00 25 25 44.26 44.21 s - PH1S -PH16 5W020 500 s - 27.23 25.79 - s P55 -PASE Azdirez.sa 500 25 25 51.96 51.73 2 - SVO3.E PP37 125 0.80x 080 APO4S PD19 1.50 0.80%0.80 PHLS 1.85 0.80%0.80 Azdirez. sa PoES 1.45 0.80x0.80
PP35-PP33 svos.e 00 23 s 29352 318 15 - PD18-7D17 arpoas 00 3 25 2221 2215 s - PHIS -PHIT swzo s00 25 - 578 um - 25 pess-pasT A2direz.sa s00 23 23 5173 s1.28 s - svos.e Pp3s 135 050x050 spoas Po18 135 0.50x0.80 P15 185 0.50x080 s2direr. 58 Pess 105 0.50x0.80
PP35-PP34 SVO3.E 400 25 25 49.16 48.79 15 - PD17 - FD16 AFO4S 00 25 25 44.16 44.08 = - PHL7 -PS67 5W020 500 17 - 24.83 24.28 - - PAST-PASE Azdirez.sA 500 s 25 51.48 51.21 -] = SVO3.E PP35 1.35 0.80x 080 APD4S PD17 1.30 0.80% 0.80 Sv02.0 PHLT 1.65 0.80%0.80 Azdirez. sa PaST 1.45 0.80x0.80
PP34-PP33 SVO3.E 500 25 25 48.70 48.58 15 - PD16 - PD20 AFO4S 800 12 - 43.75 43.69 - - PS6L -PS62 APOZN 630 25 25 29.25 28.75 & - PASE- PASS Azdirez.sa 500 25 25 1.3 50.90 2 - SVO3.E PP34 1.45 0.80x 080 APOAS PD16 1.75 1.00x 1.00 APOIN PSEL 2.10 0.80%0.80 azdirez. sa PASE 1.45 0.80x0.80
PPOL-PPOZ svos.e 313 23 s 3533 s5.23 10 - #D20-P515 2poan 500 2 - 2251 2245 - - P35z -P3s3 spozn 530 25 s 575 2777 s = P259-PaTO A2direz.sa s00 23 23 s0.50 s0.57 s - svos.E praL 125 050x050 spoas P20 3.5 1.00x1.90 spozn Pssz 185 0.50x0.80 s2direz. 58 P25 105 0.50x0.80
PPO2-PPO3 o3 315 25 5 ss.23 5435 10 - pe1-pe2 swz. 315 s 25 33.23 s2.82 15 - Ps53 -pssa spazn 530 s s 277 .79 s - Pa70-PATL svose 500 25 25 s0.57 s0.22 s - svos. proz 125 050x030 svoz.8 pcL 125 0.50x0.50 pozn Pss3 185 0502080 svos.H paz0 135 0.80%0.50
PPO3 -PPOL o3 313 23 I sas3 5447 10 s pe2-pc3 5wz 515 s 235 3282 3148 15 - Ps5a P38 spozn 530 23 I 2575 5.8 s > Pa71-pPaT2 svos.e 530 25 3 s0.12 .85 s - svos. Ppo3 125 0s0x050 svozs rc2 125 0.50x0.80 spozn Pssa 185 0.80%080 svos.m PazL 135 0.50x0.80
PPO2 -PPOS ;03 315 25 I 5247 5211 15 - pe3 -pca sw2.a 315 25 : 3145 2087 = 25 P565 -PSES apozn 530 25 5 5.0 2.8 s = Pa72-pPaT3 svos.n 530 25 25 .85 .52 s = svos. Pros 125 050x050 svoza fi=) 125 0.50x0.50 spozn Psss 185 0.50x080 svos.m par2 155 0.80%0.80
PP -PPOS svos.e 00 23 s 5103 53.78 15 - pea-pcs sw2.a 515 3 - 2087 28.25 - 25 P355 -P357 spozn 530 13 15 2.8 4.2 s - Pa73-PaTA svos.m 530 23 23 .52 a3.38 s - svos.e Ppos 135 050x050 svoza e 125 0.50x0.80 oz Ps55 185 0.50x080 svos.m P73 155 0.50x0.80
PPOS - PPOT o3 200 25 25 5375 53.57 15 s pes -pcs swz.a 515 s - 2528 26.50 s 25 Ps57 -P3EE spozn 530 23 5 2225 331 s > Paza-PaTs svos. 530 235 3 1938 .15 s - svos.E Pros 135 050x050 svoza pcs 125 0.50%0.80 spozn Psa7 185 0.50x0.80 svos.H Paza 155 0.50%0.50
PPO7 -PPOS ;03 s00 25 s s3.58 s3.47 10 - pC7-PCE sw2.c 315 25 : 257 20.17 = 25 Ps6s -psEs Ga01 530 25 : 331 2.35 = = Pa7s-PaTE svos.e 530 25 25 3915 .92 s = svos. ppo7 135 050x050 svoz.c pc 1.70 0.50x0.50 a0t Psss 155 0.50x0.50 svos.m pars 155 0.80%0.80
PPOS -PPOS svos.e s00 23 s 5347 5333 10 - pes -pcs swz.c 515 I - 2847 28.87 - 15 Pss9 -PsT0 Gao1 530 25 - 2238 na - - Pa7s-PaTT svos.m 530 23 235 .92 .58 s - svos.e Ppos 180 050x050 svoz.c rcs 180 0.50x0.80 Gao Ps59 155 0.50x080 svos.m P 155 0.50x0.80
PPOS -PP10 o3 s00 25 5 5333 53.10 10 - PD34-FD35 ap0as 315 I 25 4343 a3.22 15 - PS70-pS7L Ga01 530 s - 241 20.95 - - Par7-PaTE svose 530 25 25 558 535 s - svos. Ppos 135 050x030 spoas P33 125 0.50x0.50 Gaot Ps70 155 0.50x0.80 svos.H par? 155 0.80%0.80
PP10-PPLL o3 s00 23 I s310 52.85 10 s PD35-7D35 2poas 515 s 235 4322 a3.01 15 = Ps71-PST2 Gao1 530 23 3 2005 1952 > > Pa7s-pPaT9 svos.e 530 25 3 523 .22 s - svos. PP10 135 080x050 spaas P35 1.30 0.50x0.80 Gaot Ps71 155 0.80%0.80 svos.m P78 155 0.50x0.50
PPIL-PP12 s00 2 S 255 s2.50 10 - P35 -FD37 ap0as 00 25 25 2298 22.73 15 = P572-pS73 Ga01 530 25 - 19.52 15.50 = = Pa73-PasD svose 530 25 25 .22 a7.97 s = svos. P11 135 050x050 spoas P35 130 0.50x050 Gaot Ps72 155 0.50x080 svos.m pars 155 0.80%0.80
PP12-PPL3 s00 25 5 s2.50 5235 10 - ?D37-D38 2p0as 00 s 25 2273 22.53 15 - P573-pS7A GaoL 530 s - 18.60 17.68 - - P280-PaEL svos.n 530 25 25 w97 .70 s = svos.E P12 135 050x0350 spoas P37 130 0.50%0.50 Gaot Ps73 155 0.50x0.50 svos.m [ 155 0.50x0.80
PP13-PPLL o3 s00 23 3 5233 s2.10 10 s PD38 -7D33 2p0as 00 s 235 2253 2228 15 = Ps74-PSTS Gao1 530 23 3 17.68 15.78 > > P2B1-PaE2 svos.e 530 23 3 a7.70 .02 s - svos.E Pp13 135 050x050 spoas P38 135 0.50x0.80 Gaot Ps7a 155 0.80%080 svos.m pas1 155 0.50x0.50
PP12-PPLS ;03 s00 25 S 5210 s1.85 10 - PD32-PDAD ap0as s00 25 25 2216 2188 15 = 7575 -PS75 Ga01 500 25 - 1552 15.55 = = Pes2-Pas3 svos.e 530 25 25 a7.02 4715 s = svos. PP 135 050x050 spoas P38 135 0.50x050 Gaot Ps75 170 1.00x .00 svos.m P51 155 0.80%0.80
PP13-PP1E svos.e s00 23 s 5183 s1.50 10 - PD4D-PDAL 127035 s00 3 25 1158 2158 15 - PS75 -PST7 500 25 - 15.85 1530 - - P253-PaEL svos.e 530 23 235 a7.15 558 s : svos.e Pp1s 135 050x050 spoas ?Da0 185 0.50x0.80 Gao Ps75 170 1.00x1.00 svos.m pis3 155 0.50x0.80
PP1G-PPL7 o3 s00 25 5 5150 5135 10 - PDa1-PDAZ 27035 s00 s 25 atse a1.23 15 - P577-pS78 Gao1 500 s - 15.30 1283 - - Pesa-pass svos 530 25 25 5.55 5.5 s - svos. PP 135 050x030 spo3s PDa1 1.0 0.50x0.50 Gaot Ps77 1.70 1.00x 1.00 svos.H pesa 155 0.80%0.50
PP17-PP1S o3 500 25 I 5133 5110 10 s PD42-PDA3 27035 500 s 235 2123 20.85 15 - Ps75 -PSTS 500 23 = 18.93 181 > > P283-PiEE svos.e 530 25 3 5.5 511 s - svos. PP17 135 0s0x050 spo3s PDaz 145 0.50x0.80 Gaot Ps75 170 1.00x1.00 svos.m pes3 135 0.50x0.80
PP1E-PP13 5V03.E 500 25 25 5110 50.85 10 - PD43 - PDA4 APO3S 500 25 25 40.86 40.50 15 - P57% -PSEQ 800 25 = 14.51 13.29 = = PABE-PABT SVO03.H 630 25 25 46.11 45.72 ] - SVO03.E PP1B 145 050x0580 &P035 PD43 145 0.80x0.80 Gaol P579 170 1.00x1.00 SVO3.H PLES 1.55 0.80x0.80
PP19-PP20 o3 s00 25 5 s0ss s0.50 10 - PD23 -PDIS 27035 s00 s 25 2050 20.07 15 - PS80 -pSEL Gao1 s00 25 - 12.29 13.95 - - PST-PNLE svose 530 25 - as.72 35.10 - - svos. PP 135 050x030 spo3s PDas 185 0.50x0.50 Gaot Ps50 1.70 1.00x 1.00 svos.H p2s? 155 0.80%0.80
PP20-pP21 o3 500 25 I s050 5033 10 s PD45 -7DI5 27035 500 s 235 2007 35.85 15 - Ps81 P38z Gao1 500 23 = 13.95 1380 > > svos.e 500 25 - 9.7 .07 - 23 svos. Pp20 135 0s0x050 spo3s PDas 145 0.50x0.80 Gaot Pss1 170 1.00x1.00 svos.m PR 170 1.00x1.00
PP21-PP22 ;03 s00 25 I 50.15 10 - PDa5 -PDAT 27035 s00 25 25 3855 3822 15 = Ps52-psEs Ga01 800 25 : 1350 1332 = = Pi1-pi2 svose 500 25 = 39.07 .23 = 25 svos. PPl 135 050x050 spo3s P15 155 0.50x0.50 Gaot PS5z 1.70 1.00x .00 svos.m [ 1.80 1.00x1.00
PP22-PP23 svos.e s00 23 s .53 10 - PD47-7DaB 27035 s00 3 25 3822 35.50 15 - PsE3 -P3aL Gao1 00 25 - 1332 13.00 - - Pi1-pI3 svos.m 500 23 . a9.23 a9.00 . 23 svos.e pp2z 135 050x050 spo3s D47 0.50x0.80 Gao Pss3 170 1.00x 1.00 svos.m [ 1.9 1.00x1.00
PP23-PP2a s00 s - 13.88 - - PD45 -PDIS 27035 s00 I 25 35.37 15 - PS84 -psEs Ga01 s00 20 - 13.00 12.75 - - Pi3-pia svose 500 25 - .77 - 25 svos. Pp23 1.50 050x030 spo3s PDaE 155 0.50x0.50 Gaot Psaa 1.70 1.00x1.00 svos.H 3 1.%0 1.00x1.00
P21 -PP25 s00 5 s .52 15 - PDa8 -PDSO 27035 s00 25 25 37.85 10 = Ps85 -PSES Gao1 800 10 B 1275 253 = = Pia-pIs svos.K 300 235 - w77 .53 - 23 svos.E P2 135 050x050 spo3s PDas 155 0.50x0.50 a0t P55 170 1.00% .00 svos.m Pia 1.9 1.00x1.00
P23 -PP28 s00 23 - 4932 a3.33 - 235 PD50-D5L 27035 s00 2 235 3752 s - P385 -P387 Ga01 00 25 - 12.83 12.18 - = Pis-pie svo.e 500 23 . 1553 5.0 . 23 svos. ppas 140 050x050 spo3s ?D30 1 0.50x0.80 Gao Ps55 180 1.00x .00 svos.H w5 1.0 1.00x1.00
PP25-PP27 s00 25 - 4933 13.18 - 25 PDS1 -FDSZ 27035 s00 s - 37.:2 - - Psa7 -psEs Ga01 s00 s - 12.18 1185 - 25 Pi-PIT svose 500 25 - 5.3 - 25 svos. Pr2s 130 050x030 spo3s PDS1 1.50 0.50x0.50 Gaot Psa7 1.70 1.00x1.00 svosH rs 1.0 1.00x1.00
PP27-PP28 o3 s00 23 > 4918 .01 5 23 PDs2 D53 27035 500 s z 3722 - 25 Psas -PsE3 20 23 3 1.8 ns2 > 23 Pi7-PIE svos.e 500 25 - .07 a8 - 23 svos. pp27 140 080x050 spo3s P32 1.60 0.50x0.80 e Psss 170 1.00x1.00 svos.m 7 1.9 1.00x1.00
PP25-PP29 ;03 s00 20 - 49.01 588 - 20 P53 -FDS4 27035 s00 25 - 3577 36.32 = 25 Ps83 PS50 800 25 - 152 112 = 25 Pis-PIS svose 500 25 = 4.8 7.0 = 25 svos. PP 1.70 050x050 spo3s P53 1.50 0.50x050 soin Psss 1.70 1.00% .00 svos.m Pis 1.0 1.00x1.00
PP29-PP30 svos.e 00 s - 1838 .51 - P54 -7D35 127035 s00 3 - 3832 3557 - 25 P390 -Ps3L 00 25 - n12 0.7 - 25 P19 -PnE svos.c 500 10 . a7.80 a7.50 . . svos.e 12 185 050x050 spo3s P34 1.50 0.50x0.80 svora Pss0 170 1.00x1.00 svos.m s 1.9 1.00x1.00
PP30-PP31 SVO3.E 500 25 25 48.81 48.54 15 - PD55 - PDS6 APO3S 500 25 - 35.87 35.41 - 25 P531 -P532 00 25 - 10.71 10.30 - 25 PN1-PNZ 5V03.C 315 25 - 54.47 53.65 - 25 SV03.E PP30 175 0B0x080 AP035 PD55 1.50 0.80x0.80 SVOLA Ps1 170 1.00x1.00 Sv03.C PNL 1.35 0.80x0.80
PP3L-PP32 03 s00 25 s 4851 535 15 - PDS5 - FDST 27035 s00 25 - 35.41 3486 = 25 Pss2-pss3 500 25 - 10.30 290 = 25 PNZ-PN3 svos.c 313 25 = 5385 s2.54 = 25 svos. PP 1.70 050x050 spo3s P35 1.50 0.50x050 svora P2 1.70 1.00% .00 svo3.C Pz 135 0.80%0.80
PP32-PP33 svos.e 00 23 s 1845 .29 10 - P57 -7D38 127035 s00 3 - 3488 3231 - 25 Ps93 P33t svoLa 500 25 - 9.9 .50 - 25 PN3-PNa svos.c 315 23 . s2.51 5139 . 23 svos.e PPz 185 050x050 spo3s #D37 155 0.50x0.80 svora Pss3 170 1.00x1.00 sos.c s 135 0.50x0.80
PP33-IPP2 o3 s00 13 - 1829 .15 - - PDSsE -FDSS 27035 s0 s - 34.20 33.65 - 25 PS54 -psss 500 s s .50 552 10 - PNa-PNS sves.c 315 25 - s1s s0.32 - 25 svos. Pp33 170 050x030 spo3s P38 185 0.50x0.50 svoLa Pssa 1.80 1.00x 1.00 svo3.C Pt 135 0.80%0.50
PLL-PLZ v03.8 313 15 15 1981 a9.72 s s PDS38 -7DSD 27035 50 s - 33.85 32.80 - 25 P393 -P338 500 23 I 532 501 s > oS- PN svoa.c 315 25 - s0.3:2 1918 - 23 svos.a P 125 0s0x050 spo3s P33 1.60 0.50x0.80 svora P35 170 1.00x1.00 svos.c s 135 0.50x0.80
PL2-pL3 038 315 2 I 49.72 s - PD50-FDSL 27035 s30 25 32.84 32.23 = 25 P595 -Ps104 800 25 s zo 703 s = PNG-PNT svos.c 100 25 = 519 = 25 svos.a P2 125 050x050 spo3s D50 185 0.50x050 svora P25 1.70 1.00% .00 svo3.c Phs 135 0.80%0.80
PL3-PLE 038 315 25 5 4937 5.50 10 - PDs1 -FDSZ 27035 s0 s 25 3223 312 15 - Pss7-pssE 313 s s 10.99 10.55 15 - PN7-PNE svos.c a0 23 . 8.9 a8 = 25 svos.a PL3 125 050x0350 spo3s PDEL 185 0.50%0.50 2poLN Psa7 125 0502050 svos.c o7 1as 0.50x0.80
PLa-PLS v03.8 313 23 3 1850 5.0 s s PDs2 D53 swz.c 50 s 235 3152 30358 10 . Ps35 P59 15 23 5 10.85 10.33 s > PNS-PNS svo.c 500 23 - a7.50 a7.30 - 23 svos.a PLa 125 050x050 spo3s P52 1.60 0.50x0.80 spoLN P25 125 0.80%080 svo3.C PNE 1.8 1.00x1.00
PLS-FNR3S 315 s - 4850 531 : - P83 -FDSY swa.c s30 20 20 3058 2081 10 = P593 -Ps100 315 25 s 10.33 s = P9 -PN1D svos.c 500 25 = 47.30 a7.09 = 25 svos.a PLs 275 050x050 svoz.c P53 155 0.80x080 spon P9 185 0.50x080 svo3.C Pre 1.80 1.00x1.00
PMI19 -PM20 313 10 - 3825 s5.25 - - PD84 -PCS swz.c 50 I 15 2051 2931 15 - P5100-P5101 00 25 s s.:2 s - PNLO-PNIL svos.e 500 23 . a7.09 5.8 . 23 svo3.0 PM19 125 050x050 svoz.c P54 0.50%080 svoLs Ps100 1.9 0.50x080 svos.m P10 1.8 1.00x1.00
P20 - P21 315 15 - 25 5515 - - Pcs-FDSS swz.c s0 i - 2831 20.02 - - PS101-P5102 100 s s .58 a7z s - PNIL-PNIZ svose 500 25 - 550 5.57 - 25 svo3.0 P20 125 050x030 svoz.c i) 175 0.50x0.50 svoLs ps101 135 0.50x0.80 svos.H P11 1.80 1.00x1.00
PM21 -pM22 313 15 > seas s5.58 5 s PD85 -7D55 apo2s 50 0 20 2002 2525 s = Ps102 -P5103 ao0 23 I 572 772 s > PN1Z-PNL3 svos.e 500 25 - 557 .20 - 23 svo3.0 P21 125 080x050 spazs P85 185 0.50x0.80 svoLe ps102 135 0.80%080 svos.m P12 1.8 1.00x1.00
PM22 - PM23 315 15 - 55.96 55.70 - - PDES - PDET APO2S 630 20 20 28.25 27.47 5 - P5103 -P5104 00 12 12 7.72 737 5 = PNL3-PNL4 SVO03.H 800 25 - 46.24 45.85 - 25 5V03.D PM22 125 DB0x050 &p025 PDEE 1.85 0.80x0.80 S¥01.8 P5103 135 0.80x0.80 SVO3.H PNL3 1.80 1.00x1.00
P23 -PM24 315 15 - s5.70 55.35 - - P57 -FDSE ap02s s0 s is 2747 2688 s - Ps104-P5105 s00 25 s 7.0 520 s - PNLS-PNLS svase 500 23 - 585 5.47 - 23 svo3.0 P23 125 050x030 spozs P57 1.80 0.50x0.50 svoLa Ps104 1.70 1.00x 1.00 svos.H P1a 1.80 1.00x1.00
PM22 -pM25 313 15 > 5533 5453 5 s PD8E -PCE swz.a 50 1 z 2688 26.60 - = P5103 -P5105 20 23 I 520 s.88 s > P15 -PNLS svos.e 500 13 - as.a7 as.23 - 13 svo3.0 Pm2a 125 080x050 spazs P55 1.80 0.50x0.80 svoLa Ps105 170 1.00x1.00 svos.m P15 1.8 1.00x1.00
Prazs -praz6 sv03.0 315 15 - 5493 s1.a8 - - Pcs-FDSS sw2.a s30 25 - 2654 25.67 = 25 P5108-1PP 800 10 - s.58 sa8 = = PNIG-PNLT svose 500 10 = 35.10 .95 = 10 svo3.0 Prazs 125 050x050 024 vcs 185 0.50x050 svora Ps108 170 1.00% .00 svos.m P15 185 1.00x1.00
PMZS - P27 sposn 313 20 e 5245 s3.85 15 - PD88 -7D70 sw2.a 50 3 - 2557 2870 - 25 Pa1-PA2 200 25 s 5.8 ss.8 s - PL7-PNLE svos.e 00 23 . .95 a1.58 . 23 aposN P28 125 050x050 svoza P89 180 0.50x0.80 svos.F a1 135 0.50x080 svos.m P17 195 1.00x1.00
P27 - P36 sp0sn 315 1 - 185 53.74 - - PD70-PD7L ap025 s0 s - 2270 23.72 - 25 Paz-pA3 svosF 100 s s s6.54 s5.a1 s - PNIS-PNIS svase 500 20 - .58 .28 - 20 aposn prz7 125 050x030 svoz.a PD70 185 0.50x0.50 svo3.F P2 135 0502080 svos.H P1E 195 1.00x1.00
PM25 - P25 030 313 10 > se2s s5.25 5 s PD71-FDT2 ca01 50 s - 2372 2278 - 25 Pa3 -PAL svo3.F 00 23 I ss.a1 s5.07 s > Ph1S-PN2O svos.e 500 13 - 2128 22.08 - 13 sva3.0 P28 125 0s0x050 spazs PO71 185 0.50x0.80 svos.r Ps3 135 0.80%080 svos.m Pris 195 1.00x1.00
PM29 - PM30 svo3.0 313 15 - 3825 5515 - - PD72-7D73 a0t 50 s - 2278 218 - - Pad-PAS svo3.F s00 25 s s5.08 s5.57 s = PNZO-TOME. ESIST. svos.e 500 s . 22.08 3358 . . svo3.0 Pmz9 125 050x050 can Po72 155 0.50%0.80 svos.F P 135 0.50x0.80 svos.H P20 195 1.00x1.00
P30 - P31 sv03.0 315 15 - seas 55.35 - - PD73 -PD74 a0t s0 s - 2152 2088 - - Pas -pag svosF s00 s s s5.57 5574 s - P21-PN2Z svosk 315 25 - .23 3.7 - 25 svo3.0 Pr30 125 050x030 Gaot P73 155 0.50x0.80 svo3.F pas 135 0502080 svos.H Pr21 125 0.80%0.80
PM3L-PM32 030 313 15 > s5.98 55.70 5 s ca01 50 s - 2088 19.50 - - Pas -pAT svo3.F s00 23 I 3573 s5.05 s > Ph2z-pN23 svos.e 313 25 - a7 a3.07 - 23 sva3.0 3L 125 0s0x050 Gant Po74 155 0.50x0.80 svos.r pis 185 0.80%080 svos.m Przz 125 0.50x0.80
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PLa3 -PLAL svos.a s00 23 s 1832 5.1 s - P85 -7D57 a0t 500 3 - 13.49 1251 - - Pa1s-PAIS 513 25 s s0.87 5075 10 - PXa-FnR svor.c 315 13 . s3s 521 . . svos.a pLa3 1.50 050x050 can P85 170 1.00x1.00 v03.G pa1s 170 0.50x080 suoLe Pxa 125 0.50x0.80
PLa2-PDL 2p0as s00 25 5 4814 a7.30 s - P57 -FDEE a0t 500 s - 1201 126 - - Pa1s-paZ0 swig 315 s s s075 s0.51 15 - Pe1-pE2 svozh 315 15 15 32.79 s2.53 15 - svos.a PLaa 1.50 050x030 Gaot P87 1.70 1.00x1.00 svos.G pa1s 1.70 0502080 svozH PEL 125 0.80%0.50
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